
SAP ABAP table ROIJ_STAGESIO {TSW (&TD) Stages IO}

ROIJ_STAGESIO

VSART [CHAR (2)]

KNOTA [CHAR (10)]

KNOTZ [CHAR (10)]

MEDST [UNIT (3)]

VEL_UOM [UNIT (3)]

VEL_UOMT [UNIT (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIJ_STAGESIO-MEDST = T006-MSEHI 

0..N0..N  ROIJ_STAGESIO-VEL_UOM = T006-MSEHI 
0..N

0..N  ROIJ_STAGESIO-VEL_UOMT = T006-MSEHI 0..N

0..N
T173

MANDT [CLNT (3)]

VSART [CHAR (2)]

 ROIJ_STAGESIO-VSART = T173-VSART 

0..N
0..N

TVKN

MANDT [CLNT (3)]

KNOTE [CHAR (10)]

 ROIJ_STAGESIO-KNOTA = TVKN-KNOTE 

0..N

0..N

 ROIJ_STAGESIO-KNOTZ = TVKN-KNOTE 

0..N

0..N


